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1 Introduction
Based on the Rapporteur assignment, in this contribution we provide TP to TR 38.863 [1] on the dynamic range requirement derivation. 
2 Conclusions
Proposal 1: Approve the attached TP to TR 38.863.
3 References
[1]		3GPP TR 38.863 v0.3.0


Annex A: TP to TR 38.863
------------------------------ Modified sections ------------------------------
[bookmark: _Toc87889281][bookmark: _Toc94170398][bookmark: _Toc97753984]7.3.3.2.2	Dynamic range

[To be updated]
[bookmark: _Hlk508467101]The Rx dynamic range is specified as a measure of the capability of the receiver to receive a wanted signal in the presence of an interfering signal at the TAB connector for SAN type 1-H inside the received SAN channel bandwidth. In this condition, a throughput requirement shall be met for a specified reference measurement channel. As the Rx dynamic range requirement measures the effects of NTN SAN receiver’s impairments, the uncertainty due to the receiver’s own thermal noise floor should be minimized. Therefore, the interference level should be increased by a certain amount of margin to mask the receiver’s own noise floor, represented by Interference over Thermal (IoT).
In order to define the dynamic range requirement, both wanted and interfering signal power levels need to be defined. The mean power levels of interfering and the wanted signals were defined in the following method:
	PIntf = -174 dBm/Hz + 10 * log10(NRB * SCS * 12) + NF + IoT
     Pwanted = -174 dBm/Hz + 10 * log10(NRB * SCS * 12) + NF + IoT + SNR + IM
Where:
-	NRB is the transmission bandwidth configuration of the lowest SCS defined for SAN for each BS channel bandwidth;
-	SCS is the lowest sub-carrier spacing defined for SAN for each BS channel bandwidth;
-	NF is noise figure of SAN receiver in dB as defined in table 6.2.2.1-5,
- 	IoT: during the discussion various values of the IoT were considered for the definition of the dynamic range requirement. In case of LEO600, IoT values in range of 15-18 dB were collected based on the simulation results.  In case of LEO1200, IoT values in range of 10-15 dB were collected based on the simulation results, as captured in annex D.  
-	SNR is the value to satisfy the 95% throughput of measurement channel. As the derivation methodology and the FRC’s from the NR BS was reused, more details on the SNR simulation results can be found in TR 38.817-02 [x];
-	IM is implementation margin reserved for SAN manufacturer in dB. The IM values was reused from the NR BS as 2 dB;
For SAN it was agreed to define a single dynamic range requirement for LEO SAN (both 600 and 1200) based on the IoT value of 15 dB. Based on the collected simulation results for NTN scenarios, it was decided not to define dynamic rage requirement for SAN GEO class.
The interfering signal for the dynamic range requirement was defined as AWGN signal, same as for NR BS requirements.
------------------------------ Next modified section ------------------------------
[bookmark: _Toc87889317][bookmark: _Toc94170443][bookmark: _Toc97754033]Annex D:
Summary of simulation results for the IoT derivation 
In this annex simulations results used to derive the IoT value were collected. 
TBD

[bookmark: definitions]------------------------------ End of modified section ------------------------------
